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PHYSICS

09 Jan. 2020 [EVENING]

JEE MAIN PAPER ONLINE

RED COLOUR IS ANSWER IN JEE-MAIN

Alternating Current

1. In  LC circuit the inductance L = 40 mH and capacitance C = 100 F. If a voltage V(t) = 10sin(314t) is

applied to the circuit, the current in the circuit is given as :

,d LC ifjiFk esa izsjdRo  L = 40 mH rFkk fo|qr /kkfjrk C = 100 F gSA ;fn oksYVst V(t) = 10sin(314t) bl ifjiFk esa yxk;h

tk; rks blesa cgus okyh /kkjk gksxh %

(1) 0.52 sin(314t) (2) 5.2 cos(314t) (3) 10 cos(314t) (4*) 0.52 cos(314t)

Question ID : 4050362158

Option 1 ID : 4050367717

Option 2 ID : 4050367720

Option 3 ID : 4050367719

Option 4 ID : 4050367718

Sol.

Errors & Significant Digits

2. For the four sets of three measured physical quantities as given below. Which of the following options is

correct ?

rhu HkkSfrd jkf'k;ksa dh eki ds uhps fn;s x;s pkj leqPp;ksa ds fy;s fuEufyf[kr fodYiksa esa ls dkSu&lk lgh gS \

(i) A
1
 = 24.36, B

1
 = 0.0724, C

1
 = 256.2

(ii) A
2
 = 24.44, B

2
 = 16.082, C

2
 = 240.2

(iii) A
3
 = 25.2, B

3
 = 19.2812, C

3
 = 236. 183

(iv) A
4
 = 25, B

4
 = 236.191, C

4
 = 19.5

(1) 
4 4 4 1 1 1

2 2 2 3 3 3

A B C A B C

A B C A B C

     

    

(2) 
4 4 4 1 1 1

3 3 3 2 2 2

A B C A B C

A B C A B C

     

    

(3) 
1 1 1 2 2 2

3 3 3 4 4 4

A B C A B C

A B C A B C

     

    

(4) 
1 1 1 3 3 3

2 2 2 4 4 4

A B C A B C

A B C A B C

     

    

Ans. Bonus

Question ID : 4050362144
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Option 1 ID : 4050367663

Option 2 ID : 4050367664

Option 3 ID : 4050367662

Option 4 ID : 4050367661

Sol.

COM, Momentum & Collision

3. A rod of length L has non–uniform linear mass density given by (x) = a + b 

2
x

L

 
 
 

,

where a and b are constants and 0 x  L. The value of x for the centre of mass of the rod is at :

yEckbZ L dh ,d NM+ dk js[kh; nzO;eku ?kuRo (x) = a + b 

2
x

L

 
 
 

 gSA ;gk¡ ij a vkSj b fLFkjkad gS vkSj 0 x  LA NM+ ds

nzO;eku dsUnz ds fy;s x dk eku gksxk %

(1) 
3 a b

L
2 2a b

 
 

 
(2) 

4 a b
L

3 2a 3b

 
 

 
(3) 

3 2a b
L

2 3a b

 
 

 
(4*) 

3 2a b
L

4 3a b

 
 

 

Question ID : 4050362148

Option 1 ID : 4050367680

Option 2 ID : 4050367679

Option 3 ID : 4050367678

Option 4 ID : 4050367677

Sol.

Circular Motion

4. A spring mass system (mass m, spring constant k and natural length l) rests in equilibrium on a horizontal

disc. The free end of the spring is fixed at the centre of the disc. If the disc together with spring mass system,

rotates about it's axis with an angular velocity , (k>>m2) the relative change in the length of the spring is

best given by the option:

,d dekuh nzO;eku (spring mass) fudk; (nzO;eku m, dekuh fLFkjkad k vkSj izkÑfrd yEckbZ l) larqfyr voLFkk esa ,d {kSfrt fMLd

ij j[kk gqvk gSA dekuh dk [kkyh fljk fMLd ds dsUnz ij vkc) gSA ;fn vc fMLd dks bl dekuh nzO;eku fudk; ds lkFk blds v{k ds

pkjksa vksj , (k>>m2) dks.kh; osx ls ?kqek;k tk; rks l ds lkis{k dekuh dh yEckbZ esa cnyko ds fy;s dkSu &lk fodYi loZJs"B gS \
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(1*) 
2m

k


(2) 

2m

3k


(3) 

22m

k


(4) 

22 m

3 k

 
 
 

Question ID : 4050362149

Option 1 ID : 4050367681

Option 2 ID : 4050367683

Option 3 ID : 4050367682

Option 4 ID : 4050367684

Sol.

Magnetic Field & Force

5. An electron gun is placed inside a long solenoid of radius R on its axis. The solenoid has n turns/length and

carries a current I. The electron gun shoots an electron along the radius of the solenoid with speed v. If the

electron does not hit the surface of the solenoid, maximum possible value of v is (all symbols have their

standard meaning) :

,d bySDVªku iz{ksih (electron gun) dks  R f=kT;k dh ,d yEch ifjukfydk ds v{k ij j[kk gqvk gSA ifjukfydk esa rkj ds n ?kqeko izfr

bdkbZ yEckbZ gS rFkk blesa cgus okyh fo|qr /kkjk dk eku  I gSA bySDVªku iz{ksih ifjukfydk dh f=kT;k dh fn'kk esa vxfr ls bySDVªku iz{ksfir

djrh gSA ;fn iz{ksfir bySDVªku ifjukfydk dh lrg ls ugha Vdjkrs gSa rks v dk vf/kdre eku fdruk gks ldrk gS \ (lHkh v{kjksa dk ekud

vFkZ ysa)

R
z

y
x

(1) 
02e nIR

m


(2*) 

0e nIR

2m


(3) 

0e nIR

4m


(4) 

0e nIR

m



Question ID : 4050362157

Option 1 ID : 4050367716

Option 2 ID : 4050367714

Option 3 ID : 4050367715

Option 4 ID : 4050367713

Sol.

Semiconductors

6. Two identical capacitors A and B, charged to the same potential 5V are connected in two different circuits
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as shown below at time t = 0. If the charge on capacitors A and B at time t = CR is Q
A
 and Q

B
 respectively,

then (Here e is the base of natural logarithm)

,dleku foHko 5V ij vkosf'kr nks le:ih la/kkfj=kksa A vkSj B dks le; t = 0 ij uhps fn[kk;s x;s nks fofHkUu ifjiFkksa ds vuqlkj tksM+k

tkrk gSA le;  t = CR ij la/kkfj=kksa A vkSj B ij vkos'k Øe'k%  Q
A
 vkSj Q

B
  gks rks (;gk¡ e izkÑfrd ykWxsfjFke dk vk/kkj gS)

R BAR

(1) A B

CV VC
Q ,Q

2 e
  (2) A B

VC CV
Q ,Q

e 2
 

(3) A BQ VC,Q CV  (4*) A B

VC
Q VC,Q

e
 

Question ID : 4050362155

Option 1 ID : 4050367706

Option 2 ID : 4050367707

Option 3 ID : 4050367705

Option 4 ID : 4050367708

Sol.

Geometrical Optics

7. There is a small source of light at some depth below the surface of water (refractive index  = 
4

3
) in a tank of

large cross sectional surface area. Neglecting any reflection from the bottom and absorption by water, percentage

of light that emerges out of surface is (nearly) :

[Use the fact that surface area of a spherical cap of height h and radius of curvature r is 2rh]

,d gkSt (tank)] ftldh lrg dk vkdkj cgqr cM+k gS] esa ikuh (viorZukad = 
4

3
) Hkjk gqvk gS vkSj ikuh dh lrg ds uhps izdk'k dk ,d NksVk

L=kksr j[kk gqvk gSA ;fn ijkorZu vkSj ikuh esa vo'kks"k.k }kjk izdk'k dh gksus okyh {kfr dks ux.; ekuk tk;s rks ikuh dh lrg ls ckgj vkus okyk

izdk'k dk izfr'kr yxHkx gS %

[,d xksyh; lrg] ftldh Å¡pkbZ h gks vkSj blh oØrk f=kT;k r gks rks bldk {ks=kQy 2rh gksrk gS]

(1) 21% (2*) 17% (3) 50% (4) 34%

Question ID : 4050362160

Option 1 ID : 4050367727

Option 2 ID : 4050367728

Option 3 ID : 4050367725

Option 4 ID : 4050367726
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Sol.

Dual Nature of Radiation & Matter

8. An electron of mass m and magnitude of charge |e| initially at rest gets accelerated by a constant electric

field E. The rate of change of de–Broglie wavelength of this electron at time t ignoring relativistic effects is :

,d bySDVªkWu dk nzO;eku m rFkk bl ij vkos'k dk eku |e| gSA ;g fojkekoLFkk esa gS rFkk bl ij ,d fLFkj fo|qr {ks=k E yxkdj bls Rofjr fd;k

tkrk gSA lkis{krk ds izHkko (relativistic effects) dks ux.; ekurs gq, bySDVªkWu dh Mh&czksXyh rjaxnS/;Z dh le; t ij cnyus dh nj gksxh:

(1*) 2

h

| e | Et


(2) 

h

| e | Et
 (3) 

| e | Et

h
(4) 

h

| e | E t


Question ID : 4050362161

Option 1 ID : 4050367729

Option 2 ID : 4050367732

Option 3 ID : 4050367730

Option 4 ID : 4050367731

Sol.

Atomic Structure

9. The energy required to ionise a hydrogen like ion in its ground state is 9 Rydbergs. What is the wavelength

of the radiation emitted when the electron in this ion jumps from the second excited state to the ground state

?

gkbMªkstu ijek.kq tSls ,d vk;u tks fd mldh fuEure voLFkk esa gS dks vk;fur djus ds fy;s 9 fjMcxZ ÅtkZ dh vko';drk iM+rh gSA ;fn

�bl vk;u esa bysDVªkWu nwljh mÙksftr voLFkk ls igyh mÙksftr voLFkk esa vk;s rks mRlftZr fofdj.k dk rjaxnS/;Z gksxk %

(1) 8.6 nm (2) 35.8 nm (3*) 11.4 nm (4) 24.2 nm

Question ID : 4050362162

Option 1 ID : 4050367735

Option 2 ID : 4050367736

Option 3 ID : 4050367733

Option 4 ID : 4050367734

Sol.

Waves on String
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10. A wire of length L and mass per unit length 6.0 × 10–3 kgm–1 is put under tension of 540 N. Two

consecutive frequencies that it resonates at are : 420 Hz and 490 Hz. Then L in meters is :

yEckbZ L ds ,d rkj dk izfr bdkbZ yEckbZ nzO;eku 6.0 × 10–3 kgm–1 gS rFkk bl ij 540 N dk ruko yxk;k gqvk gSA ;fn bldh nks

Øekxr vuqukn vko`fÙk;ksa dk eku 420 Hz vkSj 490 Hz gks] rks L dk ehVj esa eku gS :

(1) 8.1 m (2) 1.1 m (3) 5.1 m (4*) 2.1

Question ID : 4050362154

Option 1 ID : 4050367704

Option 2 ID : 4050367702

Option 3 ID : 4050367701

Option 4 ID : 4050367703

Sol.

Rotation

11. A uniformly thick wheel with moment of inertia I and radius R is free to rotate about its centre of mass (see

fig). A massless string is wrapped over its rim and two blocks of masses m
1
 and m

2
 (m

1
 > m

2
) are attached

to the ends of the string. The system is released from rest. The angular speed of the wheel when m
1
 descents

by a distance h is :

f=kT;k R vkSj tM+Ro vk?kw.kZ I dk ,d ,dleku eksVkbZ dk ifg;k vius nzO;eku dsUnz ds pkjksa vksj ?kw.kZu ds fy;s LorU=k gS (fp=k ns[ksa)A ,d

nzO;ekujfgr Mksjh bl ifg;s ds pkjksa vksj yisVh x;h gS vkSj Mksjh ds nks Nksjksa ij nzO;eku m
1
 rFkk m

2
 (m

1
 > m

2
) ds nks xqVds yVdk;s

x;s gSaA bl fudk; dks fojkekoLFkk ls NksM+k tkrk gSA ,sls esa tc nzO;eku m
1
 dk xqVdk uhps dh vksj pyrs gq, h nwjh r; dj ysa rks ifg;s dk

dks.kh; osx gksxk :

m1

m2

(1) 

1

2
1 2

2
1 2

(m m )
gh

(m m )R I

 
 

  
(2) 

1

2
1 2

2
1 2

(m m )
gh

(m m )R I

 
 

  
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(3) 

1

2
1 2

2
1 2

2(m m ) gh

(m m )R I

 
 

  
(4*) 

1

2
1 2

2
1 2

2(m m ) gh

(m m )R I

 
 

  

Question ID : 4050362146

Option 1 ID : 4050367671

Option 2 ID : 4050367672

Option 3 ID : 4050367669

Option 4 ID : 4050367670

Sol.

Kinematics

12. A particle starts from the origin at t = 0 with an initial velocity of ˆ3.0i m / s  and moves in the x–y plane with a

constant acceleration   2ˆ ˆ6.0i 4.0 j m / s  . The x–coordinate of the particle at the instant when its y–coordinate

is 32 m is D meters. The value of D is :

,d d.k le; t = 0 ij ewy fcUnq ls izkjfEHkd osx ˆ3.0i m / s  vkSj Roj.k   2ˆ ˆ6.0i 4.0 j m / s  ls pyuk 'kq: djrs gq, x–y lery esa

pyrk gSA ml {k.k ij tc bl d.k ds fy;s y dk eku 32 m gks x dk eku D meters gSA D dk eku gksxk %

(1) 40 (2*) 60 (3) 50 (4) 32

Question ID : 4050362145

Option 1 ID : 4050367668

Option 2 ID : 4050367667

Option 3 ID : 4050367665

Option 4 ID : 4050367666

Sol.

Fluid Mechanics

13. A small spherical droplet of density d is floating exactly half immersed in a liquid of density  and surface

tension T. The radius of the droplet is (take note that the surface tension applies an upward force on the

droplet) :

?kuRo d dh ,d NksVh xksykdkj cwan ?kuRo  rFkk i`"B ruko ds nzo esa Bhd vk/kk Mwck gqvk rSjrk gSA bl cwan dh f=kT;k dk eku gS /;ku nsa

fd i`"Bruko cwan ij Åij dh vksj cy yxkrk gS

(1*) 
3T

r
(2d )g




(2) 
T

r
(d ) g


 

(3) 
T

r
(d ) g




(4) 
2T

r
3(d ) g




Question ID : 4050362152
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Option 1 ID : 4050367694

Option 2 ID : 4050367696

Option 3 ID : 4050367693

Option 4 ID : 4050367695

Sol.

Gravitation

14. Planet A has mass M and radius R. Planet B has half the mass and half the radius of Planet A. If the escape

velocities from the Planets A and B are v
A 
and v

B
, respectively, then 

A

B

n

4


v

v  . The value of n is :

,d xzg A dk nzO;eku M rFkk f=kT;k R gS A ,d nwljs xzg B dk nzO;eku vkSj f=kT;k nksuksa gh xzg A ls vk/kh gSaA ;fn xzg A vkSj B ls iyk;u

xfr;k¡ Øe'k% v
A 

rFkk v
B
 gks rks 

A

B

n

4


v

v  | n dk eku gS :

(1) 1 (2) 2 (3*) 4 (4) 3

Question ID : 4050362150

Option 1 ID : 4050367685

Option 2 ID : 4050367686

Option 3 ID : 4050367688

Option 4 ID : 4050367687

Sol.

Semiconductors

15. The current i in the network is :

fn;s x;s usVodZ esa fo|qr /kkjk i dk eku gS %

5

5

10 

10 

20 

5 9 V

D

D

i

(1) 0.6 A (2) 0.2 A (3) 0 A (4*) 0.3 A

Question ID : 4050362163

Option 1 ID : 4050367737

Option 2 ID : 4050367739

Option 3 ID : 4050367740

Option 4 ID : 4050367738
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Sol.

COM, Momentum & Collision

16. A particle of mass m is projected with a speed u from the ground at an angle = 
3


 w.r.t. horizontal

(x–axis). When it has reached its maximum height, it collides completely inelastically with another particle of the

same mass and velocity u î  . The horizontal distance covered by the combined mass before reching the ground

is :

nzO;eku m ds ,d d.k dks u xfr ls {kSfrt fn'kk (bls x–v{k ysa) ls = 
3


 dks.k cukrs gq, iz{ksfir fd;k tkrk gSA viuh vf/kdre

Å¡pkbZ ij igq¡pus ij ;g d.k leku nzO;eku ds ,d nwljs d.k] ftldk osx u î  gS] ls iw.kZr% vizr;kLFk :i ls Vdjkrk gSA la;qDr d.kksa

}kjk /kjrh ij igq¡pus ls igys {kSfrt fn'kk esa pyh x;h nwjh gksxh %

(1*) 
23 3 u

8 g
(2) 

25 u

8 g
(3) 

23 2 u

4 g
(4) 

2u
2 2

g

Question ID : 4050362147

Option 1 ID : 4050367673

Option 2 ID : 4050367674

Option 3 ID : 4050367676

Option 4 ID : 4050367675

Sol.

Elasticity

17. Two steel wires having same length are suspended from a ceiling under the same load. If the ratio of their

energy stored per unit volume is 1 : 4, the ratio of their diameters is :

leku yEckbZ ds nks LVhy ds rkjksa ij leku Hkkj ck¡/kdj bUgsa Nr ls yVdk;k x;k gSA ;fn bu rkjksa ds izfr bdkbZ vk;ru esa lafpr ÅtkZ dk

vuqikr 1 : 4 gS rks rkjksa ds O;kl dk vuqikr gksxk :

(1) 1 : 2 (2*) 2 :1 (3) 1: 2 (4) 2 : 1

Question ID : 4050362151

Option 1 ID : 4050367690

Option 2 ID : 4050367691
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Option 3 ID : 4050367689

Option 4 ID : 4050367692

Sol.

Magnetic Field & Force

18. A small circular loop of conducting wire has radius a and carries current I. It is placed in a uniform magnetic

field B perpendicular to its plane such that when rotated slightly about its diameter and released, it starts

performing simple harmonic motion of time period T. If the mass of  the loop is m then :

lqpkyd rkj ls f=kT;k a dk ,d NksVs oÙ̀kkdkj NYys esa fo|qr /kkjk I cg jgh gSA bls  ,d ,dleku pqEcdh; {ks=k B (tks fd blds lery ds

yEcor gS) esa bl izdkj j[kk tkrk gS fd tc bls blds O;kl ds lkis{k FkksM+klk ?kqekdj NksM+k tk; rks ;g vkorZdky T dh ljy vkorZ xfr djus

yxrk gSA ;fn NYys dk nzO;eku m gks rks %

(1) 
2m

T
IB

 (2) 
m

T
2IB


 (3*) 

2 m
T

IB


 (4) 

m
T

IB




Question ID : 4050362156

Option 1 ID : 4050367709

Option 2 ID : 4050367712

Option 3 ID : 4050367711

Option 4 ID : 4050367710

Sol.

KTG & Thermodynamics

19. Two gases – argon (atomic radius 0.07 nm, atomic weight 40) and xenon (atomic radius 0.1 nm, atomic weight

140) have the same number density and are at the same temperature. The ratio of their respective mean free

times is closest to :

nks xSalks & vkxZu (ijek.kq dh f=kT;k = 0.07 vkSj ijek.kq Hkkj = 40), rFkk thukWu (ijek.kq dh f=kT;k = 0.1 nm, ijek.kq Hkkj =140) ds

bdkbZ vk;ru esa ijek.kqvksa dh la[;k ,dleku gS rFkk mudk rkieku Hkh ,dleku gSA bu xSlksa (vkxZu vkSj thukWu ) ds ijek.kqvksa  ds vkSlr

eqDr dky (mean free time) dk vuqikr fuEu esa ls fdlds fudVre gS \

(1) 4.67 (2) 2.3 (3*) 1.83 (4) 3.67

Question ID : 4050362153

Option 1 ID : 4050367698

Option 2 ID : 4050367699
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Option 3 ID : 4050367700

Option 4 ID : 4050367697

Sol.

Electromagnetic Waves

20. A plane electromagnetic wave is propagating along the direction 
ˆ ˆi j

2


, with its polarization along the direction

k̂ . The correct form of the magnetic field of the wave would be (here B
0
 is an appropriate constant) :

,d lery fo|qr&pqEcdh; rjax 
ˆ ˆi j

2


 fn'kk esa py jgh gS rFkk bldk /kzqo.k (polarization) k̂  fn'kk esa gSA bl rjax dk pqEcdh; {ks=k gksxk

(;gk¡ ij B
0
 ,d mi;qDr fLFkjkad gS) :

(1) 0

ˆ ˆ ˆ ˆi j i j
B cos t k

2 2

  
   
 

(2*) 0

ˆ ˆ ˆ ˆi j i j
B cos t k

2 2

  
   
 

(3) 0

ˆ ˆ ˆ ˆj i i j
B cos t k

2 2

  
   
 

(4) 0

ˆ ˆi jˆB k cos t k
2

 
   
 

Question ID : 4050362159

Option 1 ID : 4050367721

Option 2 ID : 4050367723

Option 3 ID : 4050367722

Option 4 ID : 4050367724

Sol.

Semiconductors

21. The circuit shown below is working as a 8 V dc regulated voltage source. When 12 V is used as input, the

power dissipated (in mW) in each diode is; (considering both zener diodes are identical) ________.

fn[kk;k x;k ifjiFk 8 V ds fn"V /kkjk fu;fer oksYVrk L=kksr dh Hkk¡fr dk;Z djrk gSA tc blesa 12 V dh fuos'kh oksYVrk yxk;h tkrh gS

rks izR;sd Mk;ksM esa gksus okyh ÅtkZ dh {kfr mW esa gksxh % (nksuksa -thuj Mk;ksM ,dleku gSa) ________.
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Vin = 12 V

200 

200 

V0

8 V

Ans. 12.00

Question ID : 4050362168

Electrostatics

22. An electric field 2ˆ ˆE 4x i (y 1) jN/ C  


 passes through the box shown in figure. The flux of the electric

field through surfaces ABCD and BCGF are marked as 
I 
and 

II
 respectively. The difference between

(
I
 – 

II
) is (in Nm2 / C) _______.

fp=k esa fn[kk;s x;s cDls ls gksdj fo|qr {ks=k 2ˆ ˆE 4x i (y 1) jN/ C  


 fudyrk gSA ;fn cDls ds ABCD rFkk BCGF leryksa esa

ls gksdj tkus okys ¶yDl dk eku Øe'k% 
I 
rFkk 

II
 gS rc buesa vUrj (

I
 – 

II
) (Nm2 / C) esa gksxk _______A

z

A B

D C

H G

E F x

y (0, 2, 0) (3, 2, 0)

(0, 2, 2)

(3, 0, 2)
(0, 0, 2)

(0, 0, 0) (3, 0, 0)

Ans. –48.00

Question ID : 4050362165

Sol.

KTG & Thermodynamics

23. Starting at temperature 300 K, one mole of an ideal diatomic gas ( = 1.4) is first compressed adiabatically

from volume V
1
 to V

2
 = 

1V

16
 . It is then allowed to expand isobarically to volume 2V

2
. If all the processes

are the quasi–static then the final temperature of the gas (in ºK) is (to the nearest integer) _________.

rkieku 300 K ls 'kq: gksdj  1 eksy f}ijek.kqd vkn'kZ xSl ( = 1.4) dk igys :)ks"e izfØ;k }kjk V
1
 to V

2
 = 

1V

16
vk;ru rd

laihMu fd;k tkrk gSA rRi'pkr bls lenkch; izfØ;k }kjk 2V
2 
vk;ru rd izlkfjr gksus fn;k tkrk gSA ;fn lHkh izfØ;k,¡ LFkSfrddYi

(quasi–static) gksa rks xSl dk vfUre rkieku dk (fudVe iw.kkZad (in ºK)) gksxk ________A

Ans. 1816.00 to 1820.00

Question ID : 4050362164
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Sol.

Wave Optics

24. In a Young's double slit experiment 15 fringes are observed on a small portion of the screen when light of

wavelength 500 nm is used. Ten fringes are observed on the same section of the screen when another light

source of wavelength  is used. Then the value of  is (in nm) _________.

;ax ds f}f>jh iz;ksx esa ;fn izdk'k dk rjaxnS/;Z 500 nm gks rks insZ ds ,d NksVs Hkkx esa 15 fÝUtsa ns[kh tkrh gSA ;fn izdk'k dk rjaxnS/;Z  gks

rks insZ ds mlh Hkkx esas fn[kus okyh fÝUtksa dh la[;k 10 gks tkrh gSA  dk eku (nm esa ) gS _________A

Ans. 750.00

Question ID : 4050362167

Sol.

Current Electricity

25. In a meter bridge experiment S is a standard resistance. R is a resistance wire. It is found that balancing

length is l = 25 cm. If R is replaced by a wire of half length and half diameter that of R of same material, then

the balancing distance l' (in cm) will now be ________.

fn[kk;s x;s ehVj fczt iz;ksx esa S ,d ekud izfrjks/kd gS rFkk R ,d izfrjks/kd rkj gSA nh gqbZ fLFkfr esa larqyu fcUnq ds fy;s yEckbZ

l = 25 cm gSA ;fn vc R dh txg blh inkFkZ ls cuk ,d nwljk rkj] ftldh yEckbZ R dh vk/kh vkSj ftldk O;kl Hkh R dk vk/kk gks]

yxk fn;k tk; rks u;s larqyu fcUnq ds fy;s yEckbZ l'  dk eku (cm esa ) gksxk ________A

Ans. 40.00

l

R S

G

V

Question ID : 4050362166


